

## ON THE MEAN VALUES OF $L(1, \chi)$

ZHAOXIA WU AND WENPENG ZHANG

ABSTRACT. Let  $p > 2$  be a prime, and let  $k \geq 1$  be an integer. Let  $\chi$  be a Dirichlet character modulo  $p$ , and let  $L(s, \chi)$  be the Dirichlet  $L$ -functions corresponding to  $\chi$ . In this paper we consider the mean values of

$$\sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} \chi(2^k) |L(1, \chi)|^2.$$

### 1. Introduction

Let  $\chi$  be a Dirichlet character modulo  $q \geq 2$ , and let  $L(s, \chi)$  be the Dirichlet  $L$ -functions corresponding to  $\chi$ . For  $q = p$  a prime, H. Walum [8] showed that

$$(1.1) \quad \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} |L(1, \chi)|^2 = \frac{\pi^2(p-1)^2(p-2)}{12p^2}.$$

For a general integer  $q$ , S. Louboutin [5] proved that

$$\sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}} |L(1, \chi)|^2 = \frac{\pi^2}{12} \cdot \frac{\phi^2(q)}{q^2} \left( q \prod_{p|q} \left( 1 + \frac{1}{p} \right) - 3 \right),$$

where  $\phi(q)$  is the Euler function. Moreover, S. Louboutin [6] studied the mean value of  $|L(1, \chi)|^2$  for odd primitive Dirichlet characters. M. Katsurada and K. Matsumoto [3] gave some asymptotic formulae for  $\sum_{\substack{\chi \bmod q \\ \chi \neq \chi_0}} |L(1, \chi)|^2$ , where  $\chi_0$  is the principal character modulo  $q$ .

Furthermore, S. Louboutin [7] proved the following:

**Proposition 1.1.** *Let  $q > 2$ ,  $k \geq 1$  and  $l \geq 1$  denote integers. Set*

$$\phi_l(q) = \prod_{p|q} \left( 1 - \frac{1}{p^l} \right) \quad \text{and} \quad \phi(q) = q\phi_1(q).$$

---

Received June 10, 2011; Revised November 1, 2011.

2010 *Mathematics Subject Classification.* 11M06.

*Key words and phrases.*  $L$ -function, Dirichlet character, identity.

Then for any  $k \geq 1$  there exists a polynomial  $R_k(X) = \sum_{l=0}^{2k} r_{k,l} X^l$  of degree  $2k$  with rational coefficients such that for all  $q > 2$  we have

$$\frac{2}{\phi(q)} \sum_{\substack{\chi \pmod q \\ \chi(-1)=(-1)^k}} |L(k, \chi)|^2 = \frac{\pi^{2k}}{2((k-1)!)^2} \sum_{l=1}^{2k} r_{k,l} \phi_l(q) q^{l-2k}.$$

H. Liu and W. Zhang [4] determined the coefficients  $r_{k,l}$ .

**Proposition 1.2.** *Let  $q \geq 2$ ,  $m \geq 1$  and  $n \geq 1$  be positive integers with  $m \equiv n \pmod 2$ . Set  $\epsilon_{m,n} = 1$  if  $m \equiv n \equiv 1 \pmod 2$  and  $\epsilon_{m,n} = 0$  if  $m \equiv n \equiv 0 \pmod 2$ . Then,*

$$\begin{aligned} & \frac{2}{\phi(q)} \sum_{\substack{\chi \pmod q \\ \chi(-1)=(-1)^m}} L(m, \chi)L(n, \bar{\chi}) \\ &= \frac{(-1)^{\frac{m-n}{2}} (2\pi)^{m+n}}{2m!n!} \left( \sum_{l=0}^{m+n} r_{m,n,l} \phi_l(q) q^{l-m-n} - \frac{\epsilon_{m,n}}{q} B_m B_n \phi_{m+n-1}(q) \right), \end{aligned}$$

where

$$r_{m,n,l} = B_{m+n-l} \sum_{\substack{a=0 \\ a+b \geq m+n-l}}^m \sum_{b=0}^n B_{m-a} B_{n-b} \frac{\binom{m}{a} \binom{n}{b} \binom{a+b+1}{m+n-l}}{a+b+1},$$

$B_m$  is the Bernoulli number, and  $\binom{m}{a} = \frac{m!}{a!(m-a)!}$ .

In this paper we consider the mean values of

$$S(p, k) := \sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(2^k) |L(1, \chi)|^2,$$

and give some identities. The main results are the following.

**Theorem 1.1.** *Let  $p > 2$  be a prime,  $k \geq 1$  be an integer, and define*

$$g_p(c) := \left( \sum_{\substack{a=1 \\ 2 \nmid a+R_p(ac)}}^{p-1} 1 \right) - \frac{p-1}{2},$$

where  $R_p(n)$  denotes the unique  $r \in \{0, 1, \dots, p-1\}$  with  $r \equiv n \pmod p$ . Then  $S(p, 0)$  is given by (1.1),

$$S(p, 1) = \sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(2) |L(1, \chi)|^2 = \frac{\pi^2(p-1)^2(p-5)}{24p^2},$$

and for  $k \geq 2$ , the mean values of  $S(p, k)$  can be determined by the recursion formula

$$S(p, k) = \frac{5}{2}S(p, k - 1) - S(p, k - 2) + \frac{\pi^2(p - 1)g_p(2^{k-1})}{4p}, \quad k \geq 2.$$

By the recursion formula we immediately get the following corollary.

**Corollary 1.1.** *Let  $p > 2$  be a prime, and let  $k \geq 1$  be an integer. Then we have*

$$S(p, k) = \frac{\pi^2(p - 1)(p^2 - b_k(p)p + 4^k + 1)}{12 \cdot 2^k \cdot p^2},$$

where  $b_0(p) = 3$ ,  $b_1(p) = 6$ , and  $b_k(p) = 5b_{k-1}(p) - 4b_{k-2}(p) - 3 \cdot 2^k \cdot g_p(2^{k-1})$ ,  $k \geq 2$ .

From Corollary 1.1 and Lemma 2.2 (in Section 2) we get the following identities.

**Corollary 1.2.** *Let  $p > 2$  be a prime. Then we have*

$$\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(4) |L(1, \chi)|^2 = \begin{cases} \frac{\pi^2(p - 1)^2(p - 17)}{48p^2}, & \text{if } p \equiv 1 \pmod{4}, \\ \frac{\pi^2(p - 1)(p^2 - 6p + 17)}{48p^2}, & \text{if } p \equiv -1 \pmod{4} \end{cases}$$

and

$$\sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(8) |L(1, \chi)|^2 = \begin{cases} \frac{\pi^2(p - 1)^2(p - 65)}{96p^2}, & \text{if } p \equiv 1 \pmod{8}, \\ \frac{\pi^2(p - 1)(p^2 + 18p + 65)}{96p^2}, & \text{if } p \equiv -1 \pmod{8}, \\ \frac{\pi^2(p - 1)(p^2 - 30p + 65)}{96p^2}, & \text{if } p \equiv 3 \pmod{8}, \\ \frac{\pi^2(p - 1)(p^2 - 18p + 65)}{96p^2}, & \text{if } p \equiv -3 \pmod{8}. \end{cases}$$

Furthermore, from Corollary 1.1 and Lemma 2.2 we can give the following conjecture.

**Conjecture 1.1.** *Let  $p > 2$  be a prime, and let  $k \geq 1$  be an integer with  $2^k < p$ . Then we have*

$$S(p, k) = \frac{\pi^2(p - 1)(p^2 - b_k(p)p + 4^k + 1)}{12 \cdot 2^k \cdot p^2},$$

where  $b_0(p) = 3$ ,  $b_1(p) = 6$ , and

$$b_k(p) = 5b_{k-1}(p) - 4b_{k-2}(p) + 3 \cdot 2^{k-1} \cdot (L_{2^k}(p) - 1), \quad k \geq 2,$$

and  $L_{2^k}(p)$  denotes the unique  $r \in \{1 - 2^{k-1}, \dots, -1, 0, 1, \dots, 2^{k-1} - 1\}$  with  $r \equiv p \pmod{2^k}$ .

**2. Some lemmas**

**Lemma 2.1.** *Let  $p > 2$  be a prime, and define*

$$f_p(c) := \sum_{\substack{a=1 \\ 2|a+R_p(ac)}}^{p-1} 1,$$

where  $R_p(n)$  denotes the unique  $r \in \{0, 1, \dots, p-1\}$  with  $r \equiv n \pmod{p}$ . Then we have

$$f_p(c) = \frac{p-1}{2} - \frac{2p}{\pi^2(p-1)} \sum_{\substack{\chi \pmod{p} \\ \chi(-1)=-1}} \chi(c) (5 - 2\chi(2) - 2\bar{\chi}(2)) |L(1, \chi)|^2.$$

*Proof.* Let  $\bar{b}$  be the inverse of  $b$  modulo  $p$  with  $1 \leq \bar{b} \leq p-1$  and  $b\bar{b} \equiv 1 \pmod{p}$ . By using the properties of character sums we get

$$\begin{aligned} f_p(c) &= \frac{1}{2} \sum_{\substack{a=1 \\ abc \equiv 1 \pmod{p}}}^{p-1} \sum_{b=1}^{p-1} \left(1 - (-1)^{a+\bar{b}}\right) \\ &= \frac{1}{2} \sum_{\substack{a=1 \\ abc \equiv 1 \pmod{p}}}^{p-1} \sum_{b=1}^{p-1} 1 - \frac{1}{2} \sum_{\substack{a=1 \\ abc \equiv 1 \pmod{p}}}^{p-1} \sum_{b=1}^{p-1} (-1)^{a+\bar{b}} \\ &= \frac{p-1}{2} - \frac{1}{2(p-1)} \sum_{\chi \pmod{p}} \chi(c) \sum_{a=1}^{p-1} (-1)^a \chi(a) \sum_{b=1}^{p-1} (-1)^{\bar{b}} \chi(b) \\ &= \frac{p-1}{2} - \frac{1}{2(p-1)} \sum_{\chi \pmod{p}} \chi(c) \sum_{a=1}^{p-1} (-1)^a \chi(a) \sum_{b=1}^{p-1} (-1)^b \bar{\chi}(b) \\ &= \frac{p-1}{2} - \frac{1}{2(p-1)} \sum_{\chi \pmod{p}} \chi(c) \left| \sum_{a=1}^{p-1} (-1)^a \chi(a) \right|^2. \end{aligned}$$

Now if  $\chi(-1) = 1$ , then

$$\sum_{a=1}^{p-1} (-1)^a \chi(a) = 0,$$

while if  $\chi(-1) = -1$ , then

$$\sum_{a=1}^{p-1} (-1)^a \chi(a) = 2\chi(2) \sum_{b=1}^{(p-1)/2} \chi(b).$$

By [2] we know that for any odd character  $\chi \pmod p$ , we have

$$(1 - 2\chi(2)) \sum_{c=1}^{p-1} c\chi(c) = \chi(2)p \sum_{c=1}^{(p-1)/2} \chi(c).$$

On the other hand, from Theorem 12.11 and Theorem 12.20 of [1] we also know that if  $\chi$  is an odd character modulo  $p$ , then

$$\frac{1}{p} \sum_{b=1}^{p-1} b\chi(b) = \frac{i}{\pi} \tau(\chi)L(1, \bar{\chi}),$$

where

$$\tau(\chi) = \sum_{a=1}^{p-1} \chi(a)e\left(\frac{a}{p}\right)$$

is the Gauss sum. Therefore

$$\sum_{a=1}^{p-1} (-1)^a \chi(a) = \begin{cases} 0, & \text{if } \chi(-1) = 1, \\ \frac{2i}{\pi} (1 - 2\chi(2)) \tau(\chi)L(1, \bar{\chi}), & \text{if } \chi(-1) = -1. \end{cases}$$

Then we have

$$f_p(c) = \frac{1}{2}(p-1) - \frac{2p}{\pi^2(p-1)} \sum_{\substack{\chi \pmod p \\ \chi(-1)=-1}} \chi(c) |1 - 2\chi(2)|^2 |L(1, \chi)|^2.$$

□

Since  $f_p(p+c) = f_p(c)$ , we only need to study  $f_p(c)$  for  $c < p$ .

**Lemma 2.2.** *Let  $p > 2$  be a prime. Then we get*

$$f_p(1) = \sum_{\substack{a=1 \\ 2|a+a}}^{p-1} 1 = 0.$$

Furthermore, for  $2^k < p$  we have

$$f_p(2^k) = \begin{cases} \frac{p-1}{2}, & \text{if } p \equiv 1 \pmod{2^{k+1}}, \\ \frac{p - (2^k - 1)}{2}, & \text{if } p \equiv 2^k - 1 \pmod{2^{k+1}}, \\ \frac{p+1}{2}, & \text{if } p \equiv -1 \pmod{2^{k+1}}, \\ \frac{p - (1 - 2^k)}{2}, & \text{if } p \equiv 1 - 2^k \pmod{2^{k+1}}. \end{cases}$$

*Proof.* For  $k \geq 1$  and  $2^k < p$ , we get

$$f_p(2^k) = \sum_{j=1}^{2^k} \sum_{\substack{a=1 \\ (j-1)p < 2^k a < jp \\ 2|a+R_p(2^k a)}}^{p-1} 1 = \sum_{j=1}^{2^k} \sum_{\substack{a=1 \\ (j-1)p < 2^k a < jp \\ 2|a+2^k a - (j-1)p}}^{p-1} 1$$

$$\begin{aligned}
 &= \sum_{j=1}^{2^k} \sum_{\substack{a=1 \\ (j-1)p < 2^k a < jp \\ 2|a+j}}^{p-1} 1 = \sum_{j=1}^{2^k} \sum_{\substack{a=1 \\ \frac{(j-1)p}{2^k} < a < \frac{jp}{2^k} \\ 2|a+j}}^{p-1} 1 \\
 &= \left( \sum_{j=1}^{2^k-1} \sum_{\substack{(j-1)p - R_{2^k}((j-1)p) + 1 \leq a \leq \frac{jp - R_{2^k}(jp)}{2^k} \\ 2|a+j}} 1 \right) + \sum_{\substack{(2^k-1)p - R_{2^k}((2^k-1)p) \\ 2|a}}^{p-1} 1 \\
 &= \left( \sum_{j=1}^{2^k-1} \sum_{\substack{1 \leq b \leq \frac{p + R_{2^k}((j-1)p) - R_{2^k}(jp)}{2^k} \\ 2|b + \frac{(j-1)p - R_{2^k}((j-1)p)}{2^k} + j}} 1 \right) + \sum_{\substack{1 \leq b \leq \frac{p + R_{2^k}(-p)}{2^k} - 1 \\ 2|b - \frac{p + R_{2^k}(-p)}{2^k}}} 1.
 \end{aligned}$$

If  $R_{2^k}(p) = 1$ , we have

$$\begin{aligned}
 f_p(2^k) &= \left( \sum_{j=1}^{2^k-1} \sum_{\substack{1 \leq b \leq \frac{p-1}{2^k} \\ 2|b + \frac{(j-1)(p-1)}{2^k} + j}} 1 \right) + \sum_{\substack{1 \leq b \leq \frac{p-1}{2^k} \\ 2|b - \frac{p+2^k-1}{2^k}}} 1 = \sum_{j=0}^{2^k-1} \sum_{\substack{1 \leq b \leq \frac{p-1}{2^k} \\ 2|b + \frac{(j-1)(p+1)}{2^k} + j}} 1 \\
 &= \begin{cases} \frac{p-1}{2}, & \text{if } p \equiv 1 \pmod{2^{k+1}}, \\ \frac{p-(1-2^k)}{2}, & \text{if } p \equiv 1-2^k \pmod{2^{k+1}}. \end{cases}
 \end{aligned}$$

While if  $R_{2^k}(p) = 2^k - 1$ , then

$$\begin{aligned}
 f_p(2^k) &= \left( \sum_{\substack{1 \leq b \leq \frac{p+1}{2^k} - 1 \\ 2|b+1}} 1 \right) + \left( \sum_{j=2}^{2^k-1} \sum_{\substack{1 \leq b \leq \frac{p+1}{2^k} \\ 2|b + \frac{(j-1)(p+1)}{2^k} + j - 1}} 1 \right) + \sum_{\substack{1 \leq b \leq \frac{p+1}{2^k} - 1 \\ 2|b - \frac{p+1}{2^k}}} 1 \\
 &= \begin{cases} \frac{p+1}{2}, & \text{if } p \equiv -1 \pmod{2^{k+1}}, \\ \frac{p-(2^k-1)}{2}, & \text{if } p \equiv 2^k - 1 \pmod{2^{k+1}}. \end{cases}
 \end{aligned}$$

This proves Lemma 2.2. □

**Corollary 2.1.** *Let  $p > 2$  be a prime. Then we have*

$$f_p(2) = \begin{cases} \frac{p-1}{2}, & \text{if } p \equiv 1 \pmod{4}, \\ \frac{p+1}{2}, & \text{if } p \equiv -1 \pmod{4}. \end{cases}$$

$$f_p(4) = \begin{cases} \frac{p-1}{2}, & \text{if } p \equiv 1 \pmod{8}, \\ \frac{p-3}{2}, & \text{if } p \equiv 3 \pmod{8}, \\ \frac{p+1}{2}, & \text{if } p \equiv -1 \pmod{8}, \\ \frac{p+3}{2}, & \text{if } p \equiv -3 \pmod{8}. \end{cases}$$

It is natural to give the following conjecture.

**Conjecture 2.1.** *Let  $p > 2$  be a prime, and  $k \geq 1$  be an integer. For  $2^k < p$  we have*

$$f_p(2^k) = \frac{p - L_{2^{k+1}}(p)}{2},$$

where  $L_{2^{k+1}}(p)$  denotes the unique  $r \in \{1 - 2^k, \dots, -1, 0, 1, \dots, 2^k - 1\}$  with  $r \equiv p \pmod{2^{k+1}}$ .

### 3. Proof of Theorem 1.1

By Lemma 2.1 we have

$$f_p(1) = \frac{p-1}{2} - \frac{2p}{\pi^2(p-1)} (5S(p, 0) - 4S(p, 1)),$$

which, together with (1.1) and Lemma 2.2, show the formula for  $S(p, 1)$ . We also have for  $k \geq 2$

$$f_p(2^{k-1}) = \frac{p-1}{2} - \frac{2p}{\pi^2(p-1)} (5S(p, k-1) - 2S(p, k) - 2S(p, k-2)),$$

which, together with (1.1) and Lemma 2.2, proves the recursion formula.

**Acknowledgments.** The authors express their gratitude to the referee for his very helpful and detailed comments.

### References

- [1] T. M. Apostol, *Introduction to Analytic Number Theory*, Springer-Verlag, New York, 1976.
- [2] T. Funakura, *On Kronecker's limit formula or Dirichlet series with periodic coefficients*, Acta Arith. **55** (1990), no. 1, 59–73.
- [3] M. Katsurada and K. Matsumoto, *The mean value of Dirichlet  $L$ -functions at integer points and class numbers of cyclotomic fields*, Nagoya Math. J. **134** (1994), 151–172.
- [4] H. Liu and W. Zhang, *On the mean value of  $L(m, \chi)L(n, \bar{\chi})$  at positive integers  $m, n \geq 1$* , Acta Arith. **122** (2006), no. 1, 51–56.
- [5] S. Louboutin, *Quelques formules exactes pour des moyennes de fonctions  $L$  de Dirichlet*, Canad. Math. Bull. **36** (1993), no. 2, 190–196.

- [6] ———, *On the mean value of  $|L(1, \chi)|^2$  for odd primitive Dirichlet characters*, Proc. Japan Acad. Ser. A Math. Sci. **75** (1999), no. 7, 143–145.
- [7] ———, *The mean value of  $|L(k, \chi)|^2$  at positive rational integers  $k \geq 1$* , Colloq. Math. **90** (2001), no. 1, 69–76.
- [8] H. Walum, *An exact formula for an average of  $L$ -series*, Illinois J. Math. **26** (1982), no. 1, 1–3.

ZHAOXIA WU  
DEPARTMENT OF MATHEMATICS  
NORTHWEST UNIVERSITY  
XI'AN, SHAANXI, P. R. CHINA  
*E-mail address:* wuzhaoxia828@163.com

WENPENG ZHANG  
DEPARTMENT OF MATHEMATICS  
NORTHWEST UNIVERSITY  
XI'AN, SHAANXI, P. R. CHINA